Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering Semester —VI Examination Dec. - 2011

Subject code: 361919 Date: 12/12/2011
Subject Name: Power Plant Engineering

Time: 02.30 pm — 05.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered Authentic.
Q.1 (@) Define any five from the following with one example. 07
1) Base load power plant 2) Central power plant 3) Pick load power
Plant 4) Tidal Power Plant 5) Captive Power plant 6) Prime Mover

7) National Grid
(b)  Explain “Loeffler”or “Benson” boiler with neat sketch. 07
Q.2
(@) Discuss the effect of Reheat and Regenerator of Steam on T-S 07
diagram
(b)  Explain Reheat cycle with neat sketch. 07
OR
(b) Explain advantages and disadvantages of Reheat cycle 07
Q.3
(@) Draw schematic Diagram of a Modern steam power plant. 07
(b)  Advantages and Disadvantages of Pulverized fuel. 07
OR
Q.3 (a) Explain La-mount Boiler with neat sketch. 07
(b)  Write down step to start a Steam Turbine. 07
Q4
(@) During the performance test of a steam generator following details 07
are obtained.
1) Observation time 3-hrs 2) Coal Consumption 2000kg
3) Steam produced -18000kg 4) Calorific Value of coal 33300 kj/kg
5) Temp of water entering in economizer =22°C 6) Boiler Pressure
=11bar 7)Steam temp =234°C
Find out efficiency (n %) of steam generator and equivalent
evaporation of boiler.
(b) Explain in detail for diesel power plant 07
1) Lubrication System 2) Fuel supply system.
OR
Q.4 (a) Difference between central power plant and captive power plant. 07
(b)  Explain ““ Surface condenser” with figure. 07
Q.5
(a) Difference between fusion and fission. 07
(b) Difference between PWR & BWR. 07
OR
Q.5 (a) Compare force draught and Induced draught. 07

(b) A Thermal Plant is working on a modified, Rankine cycle, neglect 07
Pump work form the following observation details find out thermal efficiency
and specific steam consumption
1) Steam pressure in boiler- 40 bar
2) Steam temp entering in turbine — 360°C
3) Condenser pressure -0.1bar



Yai—9

Y-

Ys—3

Ya—3

YA

YA

ey,

Y-y

(Al 818 Ul Uikl GelgRuU@ A cautvaul wl.
1. AXBELS UleR iz 2. Az Wk weie 3.Uls cls waR wie
¥, 2FSA U die . ¥3lla waR wie s. weH yail
9. Aletet Als
ASAR AR AUl Aot ASHR 29 AlglA €3] Ames .
AR A8le wal ogetRalet sclell Adl WAA T-S WAV A& AU
Adle wase BU 131 uHstal.

Yl
A8l wase Al Udl SlAEL Aol NIFIAELRA ULl

ulY(As VU R wie ol R¥NEls stauoum R
UCARIENBS SRYUA ol SIAEIRA Wl AR SLAEI AU,
Yl

Al Moz AR A Al €31 Ameadl.
W 2ollgfal AUl sall MRall UEL cv{l wrudl.

s WH wolReR ol Ulawgl uHa g2lol ol Aol WAl HAA B,

4. WSl YMA 3 SCELS 2. slclell duRIel 2000 (5.1
3.Gculed aRrl 1¢000 (.o ¥. Slcdell 3cdilSls Ay 33300 kj/kg
USSR HL EMHA Ucll WRllo] dlumiet R°C

5. lESAR EWIRL 11 GUR

9.dR1Ne] GWLclMlot 23 %¥°C

W woiReell ealdl dal AMsel FAWR A L.

Slvet Wk wtie Ml 1.eyoll3aet utedl 2. suet Al Ueedl
AUAQRAR U
wYl
Aoz W weie da Féla WaR wie ol dslad Al
URHA 53R LA AUBA AMostA.

30t A $latat Ysglall dAell dsleld Al
PWR 3ol BWR.oll cglalcd yuesial.

2YdL

SR8 glge U Fosyrs glge Aol vl 5.

As Al UleR iz YURA wslet AAsA GUR s 52 8. Wiy sialsll
wcRlell 53 oA WAA HUBA uell wrict stleatdl wa Qlle @En
auRv(el .

LOSAR HL dRIA of EGURL ¥O GUIR

R. 2ollgfal Ul el Ul dRA of dluMlet —350°C

3.503cRq] EGUGL - 0.1 GlIR

st st sfe sfesheskeoskeosk sk ke sk

07

07
07
07

07

07
07

07

07

07

07

07
07

07
07

07
07



